4.3

Practice - Solving with Addition/Elimination

Solve each system by elimination.

1) dx+2y=0 29) — 8z —8y=-38
—4r —9y=—28 10z 49y =1
3) —9x+5y=—22 31) 9y=7—=z
9z —Hy=13 — 18y +4x=—-26
5) —6x+9y=3 33) 0= 9z + 5y
6 —9y=—9 y=:x
7) 4xr — 6y =—10 2) —Tr+y=-10
dr —6y=—14 -9z —y=-—122
9) —xz—5y=28 4) —x—2y=—7
—r+4y=—-17 r4+2y="7
11) 2z —y=>5 6) br —by=—15
or + 2y =—28 5r —Hy=—15
13) 10z + 6y =24 8) —3x+3y=—12
—6br+y=4 —3rx+9y=—-24
15) 2z +4y=—14 10) — 10z —5y=0
dr — 12y =8 —10x — 10y =—30
17) —Tx+4y=—4 12) —bx+6y=—17
10z —8y=—-8 r—2y=>5
19) 52 + 10y = 20 14) 2+ 3y=—1
—6x —dy=—-3 10z + 6y =— 10
21) — 7z —3y=12 16) — 6z + 4y =12
— 6z — 5y =20 122 + 6y =18
23) 9r —2y=—18 18) —6x+4y=4
5z — Ty =— 10 3z —y=26
25) 9z 46y =—21 20) — 9z —by=—19
— 102 — 9y =28 3r—Ty=—11
27) —Tx+5y=—38 22) —bxr+4y=4

—3r—3y=12 —7x—10y=—-10



24) 3x+Ty=-38 Ao+ 9y =22

dr+6y=—4
32) 0=—9z — 21+ 12y
) r—by=12 1+§y—i—§xf0
28) 8x+ Ty = —24 34) —6—14292_1%
6x +3y=—18 x—5—2y=0

30) — 7o +10y=13
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4.3

Answers - Solving with 2 Variables - Elimination

1) {—2,4} 12) {1,-2} 25) {—1,— 2}
2) {2,4} 13) {0, 4} 26) { — 3,0}
3) No solution 14) { —1,0} 27) {—1,-3)
4) Infinite number of 15){8,2}
solutions 16){0,3} 28) {—3,0}
5) No solution 17){4,6} 29) {—8,9}
6) Inﬁnit'e number of 18){ —6,—8} 30 {1,2}
solutions 19) { — 2,3
7) No solution 20) {1,2} 31) {—2,1}
8) {2,—2} 21) {0, — 4} 32) {-1,1}
9) {-3,-5} 22) {0,1} 33) {0,0}
10) { 3,6} 23) 1-2.04 34) Infinite number of
11) {—2,-9} 24) {2,—-2} solutions
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